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a)wz"ku Z)jS //\ /) /

Simplify by factoring. l/ SO 4/50 =| - | } 3G uﬁ,
ﬁ ( / és 7 -~ i, ¢ U/" f.¢ (Type an exact answer, using radicals as needed ), ’ﬁ /
V4
Answer: 5,/2 / (’ s 2 /
S|z - So=2 Lr\” s
ID: Quick Check R.6.25 C Q S { : f;;
2. Use the FOIL method to find the product. ( & X e ‘) ( 5 A/" y ) -~
(4x +9)(5x - 1) zox 't _t,( X T e X —
(4x+9)(5x-1)= (Slmpllfy your answer.) 1 e —— l/f,/
<£3;*”*“*?~ -
Answer: 20x? +41x - 9
N
ID: Quick Check R.10.10 \
= _ “1‘%— AR
3. Find the product using the difference of two squares formula. ( C?)( - 5 ) ( g x’ - S") = *
8x +5)(8x - 5 Pl —
(8x +5)(8x - 5) 6y YU — %o X =g S0 K = =
(8x+5)(8x~5)= ‘ 4 \\
— (8 , = = = ]
C O6¥x"— 25 N =%
Answer: g4x2 - 25 —_— & {
| .
ID: Quick Check R.10.16 ""5\/
4. Multiply using the rule for the square of a binomial. ( )(__. "))

(x-3)%=

NEP—=3X ~3X +9=

Answer: ,2 _gy 4+ g

o (%%%)(x 3)< 4
«
L

ID: Quick Check R.10.21

N
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b —¢) (b~ ) =2,
b6 L7 ol Lo )
(b-2)(b-1)(b-4) (/ HZJ)(// “:/ /’:’:yr;’)
b-2)b-1)b-4= - 2 S L

Z) 5/,/ + J“Z/ f‘/‘»’/)~-/;

5. Find the product.

(lg — 7 /b ﬂ\’t//

6. Simplify the expression. (‘ﬁ“(’ 4 )
v+2)° ‘“/"f’d)()'ff)( rid) =

(v+2)°=| "| () *Z)/V ~+ 79 t 29 *9’)°
(") +7 (7 e £y )=

Answer: 3 1 gu2 + 12y + 8 e =

£ 7‘//‘ 4 ¥y 29t H5y T

Answer: 3 752 + 14p -8

ID: R.10.61

___H_D:E.—10i93 K - (7 2 — G k_) —+ /_4_‘;}__’f f - L/{/

Factor'the polynomial completely. If the polynomial cannot be factored, say it is prime.,

o3 2 ~2 X /“GK —rX = _

- 2x" +6x" —4x ) /
—~2x ( }¥"—23x- t2)= X

Select the correct choice below and, if necessary, fill in the answer box to ‘complete your choice.

DA -2 red®-ax Cr ZX()(\)(X\“&) - E‘

(Type your answer in factored form.)

"

\‘.

© B. The polynomial - 2x +6x° - 4xis prime.

Answer: A. - 2x3 + 6x2 -4x=|~2x(x - 2)(x - 1) (Type your answer in factored form.)

ID: Quick Check PF.3.14

e —

——= — — — — — —

8. Factor the polynomial completely. If the polynomial cannot be factored, say it is prime. Z =
Mgﬂ — ) 3=
2
-3p  -21p-36
Select the correct choice below and, if necessary, fill in the answer box to complete your choil
— 32 Y, / 2 -1 / i )
OA _ 3p2 ~21p-36= (Type your answer in factored form.) j)
os. — }Q’) + 21 9)
The polynomial - 3p” —21p - 36 is prime. L/
——— .-'"
Answer; A. - 3p2 =21p-36= =3(p + 3)(p +4) (Type your answer in factored form.) ‘-/
ID: Quick Check PF.3.15
2 ot:_zz - 21
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9. @'the equation by factoring. _ / - S
2? +4z-5=0 (é_ < /((L _'}_'5) T
What is the solution set? Ak 2 — = O R & /: ST

-{ }» (Use a comma to separate answers as needed ) / é// '_>/ - /5 (@RREAN )
& - /// O// O{ .__\\Vt//
Answer: -5, 1 (% /\: A7 0 /< é 5 o

ID: PF.4.31

e —

. g
o~ — — 54, / ;R T
10. @’-’the equation. C\) - / () Z< sl gz )

4 - ' Tavy /‘ 3 Z/
g2 +7q=8 (\'} / /() - / = C\,\ Vit
The solution set i |s

(Simplify your answer. Type an mteger ora fra o

se a comma to separate answers as needed )

Answer: 1,- 8 <A (’\ / = O (—5/’(."_”_; (( + 7~ ( ) |
N G~+1=0r! O G+ jhf?’i'C)”“Zf
DRl @"“mc% C)=—F

\XK
— Ay = - —
%_ﬁ"hf equahcn %’_,}?’_ A’_" ) (‘?/'/ / /| <27 —¥ FPo<si JZ Zt ,J\
Yy s whee vy - /y 2 0 ¢ & /.-,:;/
7x +x 28x-4=0 7 / ¥ 2 (5) ¢
The solution set is { '}- B r 7
(Simplify your answer. Type an integer or a simplified fraction. Use a comma to separate answers as needed: )/
WUSe )7;; Lo dic C\llﬂk» //} )( Z ) -( ) / /v :
Answer: 1 (

. € .Z/z K4

- kd bt 4 j/ /f—;"—

-=,-22 (ﬂ_ "'/y 2 v J L _J
v 7xﬁ(»\> B ~

Sy / ( (ﬂ Jer (/i/y 42 4 J ‘TL;FK[
Wal-t=0-( . L g
ID: PF.4.39 7% 'S

U / Q,< (‘y L’ 1/11 "‘”'—'9
" 2 ___,——-...___,. s — =
\_ﬁ@m‘mpﬁﬁ“@r’
ex-72 =36 — 7 (61’7) = »([?\(;

= i
___——\h
The solution set is { P 6,(—) - 1 6

(Simplify your answer. Type an exact answer, using radicals as needed. Type an integer or a fraction. Express complex
numbers in terms of i. Use a comma to separate answers as needed.)

G6x—=—6 01 GX=7<6

Answar-ga'% 6,(__},_}/7 __()T./O/ 6,( ._' / 67’7
6X =1 7 - /3
ID: PF.4.55 %)( . ?L f p. G =1

B o iong /A e
e (D

\-\-_"_,_.r—'_"—_\_ -
———

bt
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13. /Solve'the inequality 20 - 2x > 16. Graph the solution set.

In set notation, the solution is {x| [ } (Type an inequality.)

Graph the solution set. Choose the correct graph below.

Answers x <2

20—2X T=/6
ZW* XA F [ Lo
X >

:X——)<— < —j,(’—— Ql\vk;f!( b\j :;/1 _/'7@@ o k(\
2 7

40125 12/1272019; 839 AM—_
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14. Find the following for the function f(x) = 3x2 +3x-2.

(a) f(0) (b) £(3) (c) (- 3) (d) f(-x)
(e) -f(x) (M fix+1) (9) f(3x) (h) f(x+h)

(@fo= | (Simplify your answer.)
b)f3)=] (Simplify your answer.)
(©f(-3)= | (Simplify your answer.)
@f(-x)= | (Simplify your answer)
(@) -fy=| | (Simplify your answer)
Ofx+1)=| | (Simplify your answer)
@f3)=[ | (simplify your answer)
() fx+h)=| | (Simplify your answer.)
Answers -2

34
16

3x2—3x—2
-3x% -3x+2
3x2+9x+4
27x% +9x -2

3x2 +6hx +3h2 + 3x+ 3h -2

ID: 1.1.43



@v’« )= 3x I —2
o) 30)+ 3)—1
fo)~ 30)0) #3£)—C
o)< 30)+ 30) — L
Lo)s O+0 —2

_/_(O/ - D%
L

N

@Z& ﬁX/: axtrZir—a
' A(3)= '3/3)‘—//- 3(3)— &
£79) = 3(3)s) + 3L
)//3) - %) - ) ~—2-
ﬂ’;) = 27 -+ ) —Z

£03) - 56 — ¢




@C {/5(/6 3f 3T
fC=») <3 ('-“))é—v‘ =%} — L
As) < 3(-3)F3) T8I~

)= H7) +3(-3) — &

//—-"5)’: 27 -9 — L




@_} A= 35 3x— T

_ e —(3x 30— 2)

C//r 3xt-2x—r2 Y

@7{ /ﬁd/ )(—#3(&

,L(/'{/) 2 (Krl) “k B awr) —2
//(/_f/) 3(/{/{/)0/4/)—1“5(/@/) .
/({y(/) }(/ _f_/xf()(%{>+?//lf—r‘/)“'2_

W ier) = ;(/f’zp/)%//ﬂ) =

Fxel) < Ity (Xt I

@)» F2 fﬁ%(-fs)/




@ g Late Iyl -2
F(3 x) * 3(2x) "+ 33 — &
L73x) < 3(3x)3) Tt H(X) - 2
3x )< 3/9x%) + 3(3x)—2_
A ax] = 27T x99 45— D/p/
@ 4 - 3xtrin—a o
L k) = 3 (Kh) "+ 3(xe4) — 2
Alxek)c 3 (Keh)(heb) +3(x4)—2
k) 30K (ke (xhth ") 3 (X+h) —2_
(inh) = 3(x +exh+h") +3064) — 2

g c— 7,
@ijf6X@+36L—{‘3Kﬁ




15. Find the domain of the function.
f(x) = 1/6x -36
The domain is l:' (Type your answer in interval notation.)

Answer: [6,00) {, P (,2\
ID: 1.1.59 AQMCHJ
Lo)- Jex-3¢ fid)= ([ Ak s

5 of 25 6 ¥ — }( j6/> O+36 12/12/2019, 8:39 AM
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16. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=5x+6; g(x)=8x~-7 6[‘/‘7//’(/ = e

(a) Find (f + g)(x). /ﬁ"l‘ 7 ﬁ//‘(/ = . ) ,! /¥ | i
| : (3(/@;,/7‘ (4¢-2)7 °Y ;
o2 7)

r box to complete your '

f+g)x) = | (Simplify your answer.)

Syt 61 I 7

What is the domain of f + g? Select the correct choice below JLDBE&_S&L fill in the an

choice. /3 ,( &

O A. The domain is {x| }- (;(‘/"])6(/1
(Use integers or fractions for any numbers i |n the expressmn Use a comma to separate
answers as needed.) / ’,, )(], = ( X )

O B. The domain is {x| x is any real number}. A+ {) — (‘5}( 7)
(b) Find (f - g)(x). A —('5 — FX+T7 ‘// [ty %

[3 °
(f-g)(x) =/ (Simplify your answer.) t

v) )
—~NZ )/
What is the domain of f — g? Select the correct choice below and, if necessary, fill in the answer b complete your-
choice. N o)
(/ ¢ j)&/ / .

O A. The domain is {x| }. ,v(}(} ’ /%/ < -

(Use integers or fractions for any numbers in the expressron Use-a-comma to separate ¢ J My 3,

answers as needed.) - _, />”f, Va4 o/
O B. The domain is {x| x is any real number}. ( S )( 7 ¢ )?/X : ) —"'(“f*{————"""/)’/

(c) Find (f« g)(x). 7 ‘I
(feg)x)=| | (Simplify your answer.) (f(l )( "‘(”[3 )< — ¥l - _/-.{_2

What is the domain of f - g7 Select the correct choice below and, if necessary, fill in the answer box to compiete your

choice.
/ )/%] =
O A. The domain is {x }.
(Use integers or fractions for any numbers in the express:on Use a comma to separate~— _
answers as needed.) //L,_} / AN 27 X —7 =2
O B. The domain i i | number}. < - i >
e domain is {x| x is any real number} ) (_){) / ]"//7 ,(.77(}7a7

74=7

f
(d) Find (E} ().

f
(E] x)= (Simplify your answer.,

f
What is the domain of —? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

-

- - Nl PG
(L) =13¢—1 =
O A. The domain is {x|
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) /—f‘)/’ﬂ/l (3(2)-/
O B. The domain is {x| x is any real number}. —_2 0 _
£+5)(2) 22—/

(e) Find (f + g)(2). G /+ j ) (2):: 7;_5' \ L{/ '
= /’/ _12/12/2019, 8:39 AM
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(f+a)(2) = (Type an integer or a simplified fraction.) G/ ) )ﬁ( / = =D+ 3
(9 Find (f- 9)(3). G/ 9)(3)z ~3(DV 11>

e
(f-9)@3)= | (Type an integer or a simplified fraction.) / _/ / ’S ) = ! ,r.( 3

N

(9) Find (F+ 9)(4). G ])( E
(feq)4) = (Type an integer or a simplified fraction.)(r/ &/_;( - 9,(’ }/\/ __[L ( 3 )( Lo ‘f’ 7
f
(h) Find (5](1)' (/y /Lf) yd/gr) + /3(’9) v

[é](1)=—l(Type an mtegeroram?rﬂed fra?u} ({J(Q)/Q) ~t /3( )

Answers 13x - 1 V& QL;//() S fj(?) " L
B. The domain is {x| x is any real number, // ) g }‘O "‘f’ ; Z — L
e s)l5)=

-3x+13

B. The domain is {x| x is any real nurfiber}. 6/ ?)( (f) éf& _)C/

40x% + 13x - 42

,-

B. The domain is {x[ x is any real number}.

,,f,)/){ T

8x-7

. , B G
A. The domain is {x| X# 1 '} f l ) j’:(/{ )t’?
p

(Use integers or fractions for any numbers in the ression. Use a comma to separate answers as needed.)

) (% SOEE =

650

11

ID: 1.1.67

___-_—_‘_;-\“--\;
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17. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
() =x - 5; 90 = 5x° (++ /tm‘//(’& = )
(a) Find (f + g)(x). 7/{5<} + Sx )= 'q J\J/"" A
f+g)x)= (Slmplify your answer.) (-’\/"‘ 5 ) i / ¥ ;( ) - : M}, M)K
What is the domain of f + g? Select the correct choice belOW;;d$; neoess:;y. ﬁII |r'1' the answer o;'npletgggur/

choice.

© A. The domain is {x|

(Use integers or fractions for any numbers in the expression. Use a comma to separate S m\\
answers as needed.) _/ )() 7]
2 ;
/ /5( | — / x)=
(b) Find (f-g)(x). y s o)
. V- s) ‘(‘7“1)“
(f-g)x)= (Simplify your answer.) )("“ & — g / —

O B. The domain is {x| x is any real number}.

What is the domain of f~ g? Select the correct choice below and, if necessary, fill in the answer box tcompiéte your
choice. C‘:S')/L"f)(—'f: )

O A. The domain is {x| ¥
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) ( K }. ) /-

O B. The domainis {x| x is any real number}.

(c) Find (f » g)}(x).

L
(fe9)(x) = | (Simplify your answer.) ( ,) (SX ) = _\

_ 2 Xt
What is the domain of f« g? Select the correct choice bel g Ljn_the-answer box to complete your
choice. /%,
) - T
O A. The domain is {x } ( )/ 6’)( a2
(Use integers or fractions for any numbers in the expressm Use a comma to separate /(_,4-'\ v J
answers as needed.) ; 5”( T
L)~ -5 5
(O B. The domain is {x| x is any real number}. - 1
X' - <O

f
(d) Find (EJ ().

f . .
[EJ (x)= (Simplify your answer.)

f o YFO 2
What is the domain of 57 Select the correct choice beloy and, if necessary, fill i l he-answer-box-to-complete-your-choice.
x:— 9K SY + —
© A. The domain is {x| }. ,é) Z S_(Z) 1 (2)—S
expressio

(Use integers or fractions for any numbers Use a comma to separate

answers as needed.) + )(Z) q'Z)/?,) -1'(2}-.

(O B. The domain is {x| X is any real number}. ) —_ §
)z L9 e
,[J 5 (0= T o

12/12/2019, 8:39 AM
e ———
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(e) Find (f+g)(2).
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— - — O \o—
(+a)@=  |(Type an integer or a simplifie 2 (/ 5) (X ) )/ T S
() Find (f- g)(4). 7)/%) '5-(5‘) -+ (%)~ §

(f-g)(4)=::](Typeanintegerorasim f o)/y/ ——g(?)/s«) ”7"/)”-3/
J)/c,/c ~s(/6) ~f/§=/~f> |

(h) Find [5] ).

: ﬂ) Zosx©
(E] @=__ |(Typeanintegerorasi ified fraction.) .
Answers 5x% +x -5 / j (‘3) =5 (3) — Z {'(?)

B. The domain is {x| x is any real numb r}/ ? [3)**' 9(3)(3)(3) —_ Z/(Sg)/g)
V3)z $(27)—27(9
/? ) /3) E2

B. The domain is {xl x is any real nuimber}.

-5x +x-5

B. The domain is {xl X is any real num

5x 25x

x=-5
5x°
A.The domainis {x||  x#0 b.

(Use integers or fractions for any numbera in the expression. Use a comma to separate answers as needed.)

17 P
o (7/} K- é’)/s'w

= (% I

ID: 1.1.69 /A/-. . Z/g‘




” s )=

Find the difference quotient of f; that is, find h , h#0, for the following function. Be sure to simplify.

f(’()=x2—3x+6

fix+h) - f(x)

s I

.0;1.1.:+h_3 Lide v~ 3x7C

/%f~@7: |

/{MVZ“%””ZC) — (X S re) =

@qwawo~zxawfc-g%4/;g;;

w-mh‘ ~'3;/(—3/o ol — A3 —C
1

- .
Vieoxhsht—3x—3ht¢ —X'+i0-C _

9of25 12/12/2019, 8:39 AM
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= Determine whether the graph is that of a function by using LD
the vertical-line test. If it is, use the graph to find mff”(o |
(a) its domain and range. i
(b) the intercepts, if any. S SRR N . Ry WAL L) BT
(c) any symmetry with respect to the x-axis, y-axis, or the "EET" ot 20
origin. -\ﬂa'll’ 1 & <
= EG],

Is the graph that of a function?

f.’{"}'/ Yes

If the graph is that of a function, what are the damain and range of the function? Select the correct choice below and fill in

any answer boxes within your choice. ( /e £ risht ) ) : ‘
i e . B €« (bolbm, TOp |
O A. Thefdomain is (“"”?“} ) The fange'is (' i VJ /

(Type your answers in interval notation.)
(O B. The graph is not a function.

What are | e‘iﬁfé;cep@?!ect the correct choice below and fill in any answer boxes within your choice.
i o ;'{) i L,( /) }‘
L bty

’ ./ ne -' = ,"/ " L/ ;—
O A - D’) (;:) (a’/ -'._))/ (CJ} gf.-.)v) &P
(Type an ordered pair/Use a comma to separate answers as needed.)
() B. There are no intercepts.

() €. The graph is not a function.

Determine if the graph is symmetrical.

— .

(;;."fi'r"A. It is symmetrical with respect to the y-axis. \.

(O B. It is symmetrical with respect to the x-axis.
(0 €. Itis symmetrical with respect to the origin.
(O D. The graph is not symmetrical.

(O E. The graph is not a function.

Answers Yes

A.Thedomainis| (—o0,00) . Therangeis (—o00,4] .(Type your answers in interval notation.)

A. (8,0),(— 8,0),(0,4) (Type an ordered pair. Use a comma to separate answers as needed.)

A. It is symmetrical with respect to the y-axis.

ID: 1.2.21

10 of 25 12/12/2019, 8:39 AM
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20. Using the given graph of the function f, find the following.
AY

(a) the intercepts, if any

(b) its domain and range , ' © ,O (3 i)
(c) the intervals on which it is increasing, decreasing, or constant = 0 < 21 s
(d) whether it is even, odd, or neither Q\ A & -

(;"2;‘)/ -2 (//J)

"
(a) What are tkﬁ mtercepts? ¥ ,m["""‘” — /n I—l,wﬁ
iv\.-l f X k/) f(,,u(//f'/( //CL’

_ﬁ;‘/, (lyod , (0, 1D i wble
(Slmplify your answer. Type an ordered palr Use a comma to separate answers as needed’)

Y Ju@ ‘a/( CW
(b) The omaln ls -3 &= [/( /"?’jﬁl/— YN ec LL( b )
(Type your answer in interva notatlon) A,Uu\ L (N

c— ko 144/
Th@ng}m [QI - ‘f [ éz_,f{_‘.\-w—\/ /U/j /') G M /7""/}// ﬁ
(Type your answer in interval notation.) D e 7(’ & ) /
nswgr"éb”awﬂhrmyggr -

. Jasdd A
O A. The graph IKCTBESII'IQ on L i} ( g ( /) 27 7/ - }J}’(

% A
(Type your answer in interval notation. Use a ooméra to separate answers as needed.) /9< «” or l/l i J i % ('-.,.

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in
choice.

(O B. The graph is not increasing on any interval. i

choice.

O A. Thegraph@c:;ér;‘on E_ 3/ -_.Zj/ Z U/J 13 (i el

(Type your answer in interval notation. Use a comma to separate answers as needed.)

N

(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.,

O A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

“B. The graph is not constant on any interval.”

(d) The functionis (1) — |

(1) O odd. e
- '~> neither odd nor even.
O “even.

11 of 25 12/12/2019, 8:39 AM
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Answers (- 2,0),(1,0),(0,1)
[-3.3]
[0.1]

A. The graph is increasingon | [=2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, = 2],[0,1] |
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25

12 of 25 12/12/2019, 8:39 AM
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21. Using the given graph of the function f, find the following.

(a) the intercepts, if any
(b) its domain and range
(c) the intervals on which it is increasing, decreasmg, or constant
(d) whether it is even, odd, or neither - =
PaTS
e

w,

(a) What are the |€ercepts? - ;.,\L ¢ ;/’(
)
2 g ?

(S:mpllfy your answer. Type-an ordered pair. Use a comma to separate answers as needed.)

. ;// wCﬁJ bt »

(b) Th ’domaig N =s : I,.Jb = [ [2f f/ )’/),{ ;z
(Type 3§Dur afswer in mterval notation.) .
é’r;;;:s =1 f < ( oL ) /u/z

(T Eyour answer in intérval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph is tncreasmgon ( z/ ’,.{

(Type your answer in interval notation. Use a comma to separate answers as needed.)
() B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

o —.
O A. The graphis de@eiasing on E’ / ) / g

(Type your answer in interval notation. Use a comma to separate answers as needed.)
(O B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

O A Thegraphi@ton é 3 “/z [/ éj

(Type your answer in interval notation. Use a comma to separate answers as needed.)

(O B. The graph is not constant on any interval.

(d) The function is (1).

-

(1 )Q"’ neither odd nor even.
) even.

) odd.
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5
Answers (0,0), (E.O]

[-3.3]
[-1.2]

A. The graph is increasing on | [2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-1,1]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is constant on [-3,-1],[1,2] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

(1) neither odd nor even.

ID: 1.3.31

14 of 25
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22. The function f is defined as follows.

3+x ifx<0
f(x) =
X2  ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) The g6main’of the function fis |
(Type your answer in interval notation.)

) < @’/é/ w)/né)
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A Théntercept{s} is/are (’ 2y B ((jj ¢)

(Type an ordered pair. Use a comma to separate answers as needed.)

(O B. There are no intercepts.

(c hQQse the correct graph of f(x) below.
{j"’
L\?‘Q

“ g,
(d) Tife range p‘f the function fis
(Type ouranswer in interval no

Answers (- co0,00)

A. The intercept(s) is/are | (-3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

ID: 1.4.37

. (_/,.f.'{_ 4;_
£ /. Jr
Civy ¢
e i
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23.
(a) Graph f(x) = |x + 2| - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis mi
that lies below the x-axis. 8-
(a) Graph f(x). 5“
(Use the graphing tool provided to graph the function.) 4"-
2-
(b) The area of the regi_on bounded by f and the x-axis that i .
lies below the x-axis is | | square units. J i ; ; —t : R >
(Simplify your answer.) e e s } |4 8 130
i
w6
B

Answers

ID: 1.5.81
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24, @‘)he polynomial completely. If the polynomial cannot be factored, say it is prime. Be sure to look for a greatest

common factor. F
~2oim " — ([ f =
2
-20m? - 18m+18 L W )':
=2 fom G —
Select the correct choice below and, if necessary, fill in the answer box to complete: your choice——————— V

O A _o0m?2-18m+18= % 3)6”” € 2)

(O B. The polynomial is prime.

Answer: A. -20m? - 18m + 18 = —2(5m - 3)(2m + 3)

ID: P2.1.21

——
=,

25( Factor'the polynomial completely. If the polynomial cannot be factored, say it is prime. Be sure to look for a greatest

common factor.
Wp iyt

36p2 +21p+3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
. f)

O A 36p2 +21p+3= '%(/2/0 t /P
O B. Thepolynomialisprime._ _ 3 ( , r( l)(/y‘-/— )) -

Answer: A. 36p2 +21p + 3= 3(3p + 1)(dp +1)

ID: P2.1.23

Zﬁégtor,the polynomial completely. If the polynomial cannot be factored, say it is prime. Be sure to look for a greatest
ommon factor.

3x5 - 30x% +72x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

, Y 7 .
O A 33 - 305 +72x = 3)( — 50X T /I{K =
(O B. The polynomial is prime. -3 < ( )( (N /U’)( —t ZY)

Answer: A. 3x° - 30x° +72x = [3x(x - 4)(x - 6) _3){ ()(___! (},)()(__ 6) —_

ID: P2.1.25
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—

27., efollowunmhon usﬁgm&guadratmformqla (/_,_,,—1 2.4 ‘}_-(_—_/'L
& s e ot T = B

3x -2x-1=0 5032
a=3, b=- 2L2) - 2*(//(1

The sglutlon setis™q |
(Type an exact answer, using radlcals and i as needed. Use integers or fractions for any numbers in the expressnon Use a

comma to separate answers as needed.) ~Z 2 — - 2t vd
Answer: 1 < : © 2-Y
3 2 +(/ 0& x\ o2 e

~. oL Cmk— é,

(/ N ATE e
¥ X: »g’ oL X [

ID: Quick Check P2.2.2

28. ;veithe equaﬁbn using u@um . G+ T+ /¥y
Lt/ vec —(“‘7)+b(‘/ YAXrH.- 1TV —
s x—9x360 ., X< ‘L"té \F 2 (D) <o
CE=
Theéoluhon SBI’IS'{ _ I

L
(Simplify your answer. Type an exact answer, using radicals and i as needed. Use integers or fractions for any numbers in
the expression. Use a comma to separate answersésrneeded o ., - ,,f— / §

X< EL ot K- 5 {/, X5 ==
> - G S o Q] <
X= 7y @e@ R

N - A = LA B
ID: P2.2_.11 — ./ = &E/ e
— -

= .0

2 - Ttz

Answer: - 3,12

R = =
29.4 Solve the e uatio iusing th(quadraﬂcforrn’”la

1 _
3x2-x-10=0 S — X «—/_o -
[ — a.:g) )Of~{j ( =72

The solution setis {
(Simplify your answer. Type an exact answer, usmg radicals and i as needed. Use integers or fractions for any numbers in
the expression. Usaa,oammh to separate answers as naeded )

Answer: )(’ —b.’—f Z? ‘—Y(C /\5

B

..32 2,;- ,,,.f
X~ (=) -1 =¥ CN -1
ID: P2.2.13 2(3)

Xz [t V] 4125
6
Y= (2 Y72/
r-———(

—+ 1/
)( 6 /,, /’~—//
K= L%.ﬂ ON
(- 12 gr A= ’”/

Iz 12/12/2019, 839 AM ™'
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7y o N
30. Find the zeros,if any, of the quadratic function using th?’;q'uadratic formula, ’What are the x-intercepts, if any, of the graph
of the fuk/cneﬁ? C

f(x) = 2% + 1+ 6x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
are

O A,

() B. The zeros and the x-intercepts are the same. They are

(7 €. There is no real zero solution and no x-intercept.

—3+«/— -3- «/—

2 2

Answer: B. The zeros and the x-intercepts are the same. They are

4 4_4/+<,/ﬁ/ fr’bu//[f’ &"“’ '

ID: 2.3.47 - ’)
J/ Ly P
—

G= 3) }j. 6 ol
f‘/( L)—g—(//’ﬁm //7«4. R
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) or the quadratic function f(x) = X2 +2x - 8, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

up
down

What are the coordinates of the vertex?

The vertex of the parabola is |

(Type an ordered pair. Use mtegers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of fis |
(Type your answer in interval notatlon )

(c) Determine where the function is increasing and where it is

decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

21 0f25
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g (
Answers up

et e X Z)/"/Xw

A. The x-intercept(s) is/are -4,2

(Type an integer or a decimal. Use a comma to separate answers as negdéd’)

A. The y-intercept is -8 i.(Type an integer or a decimal.)

Ay
20+

[-9,m)
[-1.0)
(=00,-1]
ID: 2.4.37
2 - — — —_ ———
32. Solve the equation in the mplm — ‘-\ — (;-1 1) t ("/Z/ '?’[/)féml
: W g 2 (i)

X —12x+40 0

G- s :"’" - + Y1y —rio
Thes’ ion set is ¢ 7 (Use a comma to separate answers as needed. ) L@H

Answer:6-2i6+2i —_
e x
ID: 3.3.2 \ ~
\_,/ =9
\\ =" L—
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33. Forf(x)=9x + 8 and g(x) = 2x, find the following composite functions and state the domain of each.

23 of 25

(a) fog (b) gof (c) fof (d) gog
(@) fog)) = | (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o f)(x) = | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of g ofis {x | }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(©) (Fo HX) = | | (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice,

O A. The domain of fofis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of f o fis all real numbers.
(d) (g o g)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domainofgogis { |
(Type an inequality. Use integers or fractlons for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 18x +8
B. The domain of f o g is all real numbers.
18x + 16
B. The domain of g o f is all real numbers.
81x+ 80
B. The domain of f o f is all real numbers.
4x

B. The domain of g o g is all real numbers.

12/12/2019, 8:39 AM
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ID: 4.1.23

34. The percentage of patlents P who have survived t years after initial diagnosis of a certain disease is modeled by the ,

function P(t) = 100(0.8)". HE) =/ UL)/ 0. i)

(a) According to the model, what percent of patients survive 1 year after initial diagnosis?

(b) What percent of patients survive 4 years after initial diagnosis? /( /) / OO ( O " ()7 )

(c) Explain the meaning of the base 0.8 in the context of this problem.

— 2C1) = (00(0-D"()

(a) According to the model, % of patients survjde 1 yegvaﬁerl iti dlagnnsla :
(Type an integer or a-deeimal. /( / ) - E}/ O :\._ L
(b) According to the model, | % of patients su 'vé’/':year‘s-.aﬂer initial diagnosis.

(Type an integer or'a.decimal.)

(c) Explain the meaning of the base 0.8 in the context of this problem. Select the correct choice below and fill in the answer

box to complete your choice. /é / /00 ( 0 27 /
O A. As each year passes, % of the previous survivors take the diagnosis. /( C;/) ol / o ( &, X)

O B. Aseach year passes, % of the previous year's survivors have survived.
O C. Aseach year passes, % of the total patients have survived. / / ( Q / - /C/t) (é ?< ) / /
Answers 80
40.96 —
B. As each year passes, 80 % of t'h_g, previous year's-survivors have survived. o {‘;'
C Wt 7/0()“") Celgeleds 7
ID: 4.3.109 e i

——

35. The function 0 (f(’ /,’ ! {; )
D(h)=2¢ ~042n (h Q C B ;L o S

can be used to find the number of milligrams’ Dofa certaln drug that is\jn a patient's-blapdstream h hours after the drug
has been administered. How many milligrams will e present afte@_ r? Aftér 4 hours?

After 1 hour, there will be | milligrams. (Round to two decimal places as needed.)

e— :‘0,4( 1)
/' Answers 1.31 D ( |
0.37 K 2A2 D Lﬂ’

ID: 4.3.111 D(D 2 A(—U VZ(DB
V= 57 i

\—Qr*m_/.-/
NETE 26/‘(~0 VL(V))QQ
(«//,_ e d7L777 752] \.

After 4 hours, there will be | milligrams. (Round to two decimal places as negded.) (L\ \ N ")
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36. (Find, the amount tha@uh from the given investment. P < / 0 O
N (e s —— _..,-::;_’,-_—_—_'“\
$10 igwesl{ % eémpoundec@arteriy after a period of 3 !;g?rB s ] ' boirs /0 - 9 - C\.}hz/L,
P 7
After 3 years, the investment results in $: s ;L’ . }/ /r T 70, Y 7
(Round to the nearest cent-as needed.) v A s j( -
A=r7 1+ € =3% e

Answer: 123.14

A= Yoo /-f.ﬁl': ff/(/“(/’*‘ %) (12)
Tt %,z =113 175535 g

CA = 123,7% < fouuf

system of equations. If the system has no solution, say that it is inconsistent. ———

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

O A. The solution of the system is x = andy=
(Type an integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as
{(x,y) |x= , 'y any real number}.
(Simplify your answer. Type an expression using y as the variable as needed.)

(O €. The system is inconsistent.

Answer: A. The solution of the system is x = |

(Type an lntegers or simplified fractions.) nd : m
ID: 6.1.33 G — 27 27 l)
% / + /7 L/
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